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Q.1
Ans

Comprehension:

Refer to the below poem and answer the questions.

Far far from gusty waves these children’s faces.

Like rootless weeds, the hair torn round their pallor:

The tall girl with her weighed-down head. The paper-
seeming boy, with rat’s eyes. The stunted, unlucky heir.
Of twisted bones, reciting a father’s gnarled disease,

His lesson, from his desk. At back of the dim class

One unnoted, sweet, and young. His eyes live in a dream,
Of squirrel’s game, in tree room, other than this.

On sour cream walls, donations. Shakespeare’s head,
Cloudless at dawn, civilized dome riding all cities.
Belled, flowery, Tyrolese valley. Open-handed map
Awarding the world its world. And yet, for these
Children, these windows, not this map, their world,
Where all their future’s painted with a fog,

A narrow street sealed in with a lead sky.

Far far from rivers, capes, and stars of words.

Surely, Shakespeare is wicked, the map a bad example,
With ships and sun and love tempting them to steal—

For lives that slyly turn in their cramped holes.

From fog to endless night? On their slag heap, these children

Wear skins peeped through by bones and spectacles of steel.

With mended glass, like bottle bits on stones.
All of their time and space are foggy slum.
So blot their maps with slums as big as doom.

Unless, governor, inspector, visitor,

This map becomes their window and these windows

That shut upon their lives like catacombs,

Break O break open till they break the town.

And show the children to green fields and make their world.
Run azure on gold sands and let their tongues.

Run naked into books the white and green leaves open
History theirs whose language is the sun.

SubQuestion No : 1
Identify the central theme of the poem.

/< 1. Poverty and the contrast between the subpar living conditions of the slum and the

hope and opportunity for education are just a waste of time.

5 2. It describes the condition of the students of an‘elementary school which is situated in

a slum area.

/5 3. There is a constant pressure on younger generation to realize their limits and work

upon it.

«” 4. The passage reflects how the poverty all around the youngsters limits their potential

and how education might help them to overcome it.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680448787
6306801752314
6306801752315
6306801752313
6306801752312
Not Answered




Comprehension:

Refer to the below poem and answer the questions.

Far far from gusty waves these children’s faces.

Like rootless weeds, the hair torn round their pallor:

The tall girl with her weighed-down head. The paper-
seeming boy, with rat’s eyes. The stunted, unlucky heir.
Of twisted bones, reciting a father’s gnarled disease,

His lesson, from his desk. At back of the dim class

One unnoted, sweet, and young. His eyes live in a dream,
Of squirrel’'s game, in tree room, other than this.

On sour cream walls, donations. Shakespeare’s head,
Cloudless at dawn, civilized dome riding all cities.
Belled, flowery, Tyrolese valley. Open-handed map
Awarding the world its world. And yet, for these
Children, these windows, not this map, their world,
Where all their future’s painted with a fog,

A narrow street sealed in with a lead sky.

Far far from rivers, capes, and stars of words.

Surely, Shakespeare is wicked, the map a bad example,

With ships and sun and love tempting them to steal—

For lives that slyly turn in their cramped holes.

From fog to endless night? On their slag heap, these children
Wear skins peeped through by bones and spectacles of steel.
With mended glass, like bottle bits on stones.

All of their time and space are foggy slum.

So blot their maps with slums as big as doom.

Unless, governor, inspector, visitor,

This map becomes their window and these windows

That shut upon their lives like catacombs,

Break O break open till they break the town.

And show the children to green fields and make their world.
Run azure on gold sands and let their tongues.

Run naked into books the white and green leaves open
History theirs whose language is the sun.

SubQuestion No : 2

Q.2 Select the most appropriate meaning of the given word below.
Tempting

Ans 4 1. to make someone want to have or do something, espécially something that is
unnecessary or wrong

#< 2. to notice something unusual
< 3. wanting to give your attention to something-and discover more about it

25 4. more than usual or more than other people or things

Question ID : 630680448789
Option 1 ID : 6306801752320
Option 2 ID : 6306801752323
Option 3 ID : 6306801752322
Option 4 ID : 6306801752321
Status : Answered
Chosen Option : 2




Q.3

Ans

Comprehension:

Refer to the below poem and answer the questions.

Far far from gusty waves these children’s faces.

Like rootless weeds, the hair torn round their pallor:

The tall girl with her weighed-down head. The paper-
seeming boy, with rat’s eyes. The stunted, unlucky heir.
Of twisted bones, reciting a father’s gnarled disease,

His lesson, from his desk. At back of the dim class

One unnoted, sweet, and young. His eyes live in a dream,
Of squirrel’s game, in tree room, other than this.

On sour cream walls, donations. Shakespeare’s head,
Cloudless at dawn, civilized dome riding all cities.
Belled, flowery, Tyrolese valley. Open-handed map
Awarding the world its world. And yet, for these
Children, these windows, not this map, their world,
Where all their future’s painted with a fog,

A narrow street sealed in with a lead sky.

Far far from rivers, capes, and stars of words.

Surely, Shakespeare is wicked, the map a bad example,

With ships and sun and love tempting them to steal—

For lives that slyly turn in their cramped holes.

From fog to endless night? On their slag heap, these children
Wear skins peeped through by bones and spectacles of steel.
With mended glass, like bottle bits on stones.

All of their time and space are foggy slum.

So blot their maps with slums as big as doom.

Unless, governor, inspector, visitor,

This map becomes their window and these windows

That shut upon their lives like catacombs,

Break O break open till they break the town.

And show the children to green fields and make their world.
Run azure on gold sands and let their tongues.

Run naked into books the white and green leaves open
History theirs whose language is the sun.

SubQuestion No : 3

Select the most appropriate SYNONYM of the given word below.
Heap

¥ 1. Plenty
X 2. Bit

#< 3. Handful
& 4. Pinch

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

630680448788
6306801752319
6306801752316
6306801752317
6306801752318
Not Answered




Q.4
Ans

Comprehension:

Refer to the below poem and answer the questions.

Far far from gusty waves these children’s faces.

Like rootless weeds, the hair torn round their pallor:

The tall girl with her weighed-down head. The paper-
seeming boy, with rat’s eyes. The stunted, unlucky heir.
Of twisted bones, reciting a father’s gnarled disease,

His lesson, from his desk. At back of the dim class

One unnoted, sweet, and young. His eyes live in a dream,
Of squirrel’'s game, in tree room, other than this.

On sour cream walls, donations. Shakespeare’s head,
Cloudless at dawn, civilized dome riding all cities.
Belled, flowery, Tyrolese valley. Open-handed map
Awarding the world its world. And yet, for these
Children, these windows, not this map, their world,
Where all their future’s painted with a fog,

A narrow street sealed in with a lead sky.

Far far from rivers, capes, and stars of words.

Surely, Shakespeare is wicked, the map a bad example,
With ships and sun and love tempting them to steal—

For lives that slyly turn in their cramped holes.

From fog to endless night? On their slag heap, these children

Wear skins peeped through by bones and spectacles of steel.

With mended glass, like bottle bits on stones.
All of their time and space are foggy slum.
So blot their maps with slums as big as doom.

Unless, governor, inspector, visitor,

This map becomes their window and these windows

That shut upon their lives like catacombs,

Break O break open till they break the town.

And show the children to green fields and make their world.
Run azure on gold sands and let their tongues.

Run naked into books the white and green leaves open
History theirs whose language is the sun.

SubQuestion No : 4
Identify the suitable title for the poem.

«” 1. An Elementary School Classroom in a Slum
5 2. Shakespeare’s head
5 3. Break O break

< 4. From fog to endless night

Question ID :
Option 11D :
Option 211D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680448786
6306801752310
6306801752308
6306801752309
6306801752311
Answered

1




Q.5

Ans

Comprehension:

Refer to the below passage and answer the questions.

In today's fast-paced and demanding world, rules and regulations are essential in both small
and large environments. Without these institutions, life would be much more difficult, and
people would do as they please without consequences.

Rules and regulations are present in every aspect of life. In educational institutions, students
must follow a set of rules. In the workplace, employees and employers must comply with
employment regulations. In social and family gatherings, there are unwritten rules of
behaviour. Even in our homes, parents make house rules for their children.

These regulations ensure the smooth functioning of society. They prevent chaos from
prevailing and ensure that everyone adheres to a set of expected behaviours. Rules
guarantee fair treatment for workers and fair play on the playing fields. They also ensure that
no person or group may take advantage of others and that everyone respects each other's
rights and property. This creates harmonious living conditions and establishes a basis for
discipline so that children can be guided and socialised. Although some rules may appear
childish and ridiculous, such as the penalties imposed on littering and vandalism, they are
justifiable. Such regulations address the actions of thoughtless and inconsiderate individuals
who may negatively impact the peace-loving majority of the community. Without the existence
of rules and laws, respect for human life may be lost. Criminals and gangs could take over
society, and the strong may take advantage of the weak.

Therefore, even though we may find some rules difficult to accept, we must acknowledge their
importance. Rules and regulations contribute to better living conditions, and without laws and
legislation, freedom would not be possible.

SubQuestion No : 5

Select the most appropriate meaning of the given word below.
Chaos

#5 1. importance or value
& 2. to know the meaning of something that someone says
& 3. to speak, act, or be present officially for another person or people

o 4. a state of total confusion with no order

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

630680448784
6306801752305
6306801752304
6306801752306
6306801752307
Answered

4




Comprehension:

Refer to the below passage and answer the questions.

In today's fast-paced and demanding world, rules and regulations are essential in both small
and large environments. Without these institutions, life would be much more difficult, and
people would do as they please without consequences.

Rules and regulations are present in every aspect of life. In educational institutions, students
must follow a set of rules. In the workplace, employees and employers must comply with
employment regulations. In social and family gatherings, there are unwritten rules of
behaviour. Even in our homes, parents make house rules for their children.

These regulations ensure the smooth functioning of society. They prevent chaos from
prevailing and ensure that everyone adheres to a set of expected behaviours. Rules
guarantee fair treatment for workers and fair play on the playing fields. They also ensure that
no person or group may take advantage of others and that everyone respects each other's
rights and property. This creates harmonious living conditions and establishes a basis for
discipline so that children can be guided and socialised. Although some rules may appear
childish and ridiculous, such as the penalties imposed on littering and vandalism, they are
justifiable. Such regulations address the actions of thoughtless and inconsiderate individuals
who may negatively impact the peace-loving majority of the community. Without the existence
of rules and laws, respect for human life may be lost. Criminals and gangs could take over
society, and the strong may take advantage of the weak.

Therefore, even though we may find some rules difficult to accept, we must acknowledge their
importance. Rules and regulations contribute to better living conditions, and without laws and
legislation, freedom would not be possible.

SubQuestion No : 6

Q.6 Select the most appropriate SYNONYM of the given word below.
Comply

Ans X 1. Differ
& 2. Oppose
& 3. Disagree
w# 4. Accept

Question ID : 630680448783
Option 1 ID : 6306801752300
Option 2 ID : 6306801752303
Option 3 ID : 6306801752302
Option 4 ID : 6306801752301
Status : Answered
Chosen Option : 4




Q.7
Ans

Comprehension:

Refer to the below passage and answer the questions.

In today's fast-paced and demanding world, rules and regulations are essential in both small
and large environments. Without these institutions, life would be much more difficult, and
people would do as they please without consequences.

Rules and regulations are present in every aspect of life. In educational institutions, students
must follow a set of rules. In the workplace, employees and employers must comply with
employment regulations. In social and family gatherings, there are unwritten rules of
behaviour. Even in our homes, parents make house rules for their children.

These regulations ensure the smooth functioning of society. They prevent chaos from
prevailing and ensure that everyone adheres to a set of expected behaviours. Rules
guarantee fair treatment for workers and fair play on the playing fields. They also ensure that
no person or group may take advantage of others and that everyone respects each other's
rights and property. This creates harmonious living conditions and establishes a basis for
discipline so that children can be guided and socialised. Although some rules may appear
childish and ridiculous, such as the penalties imposed on littering and vandalism, they are
justifiable. Such regulations address the actions of thoughtless and inconsiderate individuals
who may negatively impact the peace-loving majority of the community. Without the existence
of rules and laws, respect for human life may be lost. Criminals and gangs could take over
society, and the strong may take advantage of the weak.

Therefore, even though we may find some rules difficult to accept, we must acknowledge their
importance. Rules and regulations contribute to better living conditions, and without laws and
legislation, freedom would not be possible.

SubQuestion No : 7

Identify the central theme of the passage.

25 1. With the existence of so many rules and regulations freedom will always be
compromised.

X 2. Alot of rules are difficult to be accepted and thus should be avoided at all costs.
#< 3. Rules and regulations are not present in every aspect of life and is not needed as
well.

«” 4. Rules and regulations contribute to better living conditions, and without laws and
legislation, freedom would not be possible.

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :
Chosen Option :

630680448782
6306801752296
6306801752298
6306801752299
6306801752297
Answered

4




Comprehension:

Refer to the below passage and answer the questions.

In today's fast-paced and demanding world, rules and regulations are essential in both small
and large environments. Without these institutions, life would be much more difficult, and
people would do as they please without consequences.

Rules and regulations are present in every aspect of life. In educational institutions, students
must follow a set of rules. In the workplace, employees and employers must comply with
employment regulations. In social and family gatherings, there are unwritten rules of
behaviour. Even in our homes, parents make house rules for their children.

These regulations ensure the smooth functioning of society. They prevent chaos from
prevailing and ensure that everyone adheres to a set of expected behaviours. Rules
guarantee fair treatment for workers and fair play on the playing fields. They also ensure that
no person or group may take advantage of others and that everyone respects each other's
rights and property. This creates harmonious living conditions and establishes a basis for
discipline so that children can be guided and socialised. Although some rules may appear
childish and ridiculous, such as the penalties imposed on littering and vandalism, they are
justifiable. Such regulations address the actions of thoughtless and inconsiderate individuals
who may negatively impact the peace-loving majority of the community. Without the existence
of rules and laws, respect for human life may be lost. Criminals and gangs could take over
society, and the strong may take advantage of the weak.

Therefore, even though we may find some rules difficult to accept, we must acknowledge their
importance. Rules and regulations contribute to better living conditions, and without laws and
legislation, freedom would not be possible.

SubQuestion No : 8
Q.8 Identify the suitable title for the passage.
Ans  # 1. The Necessity of Rules and Regulations in Society

#< 2. Rules & regulations- Hinderance in freedom
/% 3. Society and its unnecessary rules

5 4. Unwritten rules of behaviour

Question ID : 630680448781
Option 1 ID : 6306801752295
Option 2 ID : 6306801752294
Option 3 ID : 6306801752293
Option 4 ID : 6306801752292
Status : Answered
Chosen Option : 1

Q.9 Read the below passage:
The present generation is well updated with the use of internet and computers. The
rapid development in computer technology and increase in accessibility of the internet
for academic purposes has changed the face of education for everyone associated
with it. The data arising out of a recent survey that was done to ascertain the time
spent on utilization of the computer and internet explicitly shows this sudden change.
Which of the following is the CORRECT logical inference based on the information in
the above passage?
1) The face of education has drastically changed with the development in computer
technology and increase in accessibility of the internet.
1) The previous generation was very well versed with the use of internet and
computers.
1ll) The rapid development in recent computer technology has definitely helped in the
increased efficiency in the education system and everyone associated with it.

Ans X 1.1, &lllonly

& 2. 1lonly
& 3.1& Il only
o 4.1&ll only

Question ID : 630680448791
Option 1 ID : 6306801752330
Option 2 ID : 6306801752331
Option 3 ID : 6306801752329
Option 4 ID : 6306801752328
Status : Answered
Chosen Option : 4




Q.10 Read the below passage:
Technology has advanced tremendously and has taken control of our daily lives. Every
household has at least one television set, a laptop or desktop. It is not an uncommon
sight to see kids playing with smartphones or tablets nowadays. We cannot deny how
much technology has helped us, but are we exposing ourselves and our children to
too much of it?
Which of the following is the CORRECT logical inference based on the information in
the above passage?
1) Our daily lives are immensely controlled by advanced technology.
1) There is no such thing as over exposure of technology in our lives.
1) It is quite rare to find smartphones and tablet nowadays.

Ans o 1.lonly

& 2.1l only
&K 3.1, 1, &l only
& 4.1l only
Question ID : 630680448790
Option 1 ID : 6306801752325
Option 2 ID : 6306801752326
Option 3 ID : 6306801752324
Option 4 ID : 6306801752327
Status : Answered
Chosen Option : 1
Section : Part 1 General Odia
Q1 g6oYe s19a 212 QI 296 ARINS?
Ans 2 1. ARIQY 196 QU6
X 2.66 2969
X 3.54I9 ade
X 4.254Id ad6
Question ID : 630680448803
Option 1 ID : 6306801752370
Option 2 ID : 6306801752371
Option 3 ID : 6306801752368
Option 4 ID : 6306801752369
Status : Answered
Chosen Option : 1
Q2 qaqq QAT JIRIQ ASRES @761 ?
Ans 2 1.6 9e° QgIg
X 2,901 6 2°9%
X 3. 891 6 URG
X 4.5419 6 23¢9
Question ID : 630680448802
Option 1 ID : 6306801752364
Option 2 ID : 6306801752367
Option 3 ID : 6306801752365
Option 4 ID : 6306801752366
Status : Answered
Chosen Option : 1




Comprehension:

2541966 2419 ¢ 2J6m ATEIY G0 G | 64 58 TYIY K69 1T 6SIR F6T, 69 ALE8 Fag
95° REQ AR A9G YRR F6R I8° IE 196 FIRIF6R F5I9 F69 | FFIF 9R A4 eI
2°ag SRR I8 I8 LIRS RV | 9 9T AAIR-T6AUT iR °AISER §F RIS 9 | 99
6 249 FAGR gAAGRINT 2AQUIRY 8 AFjag AA1g 998 | CPRER FIF 6997 SaLIFH 6TIR
QRN | 59R F99 AR YL 6TRACA Q1L | A 64 §FS16 16° YR GIAIR T 98°
23499 gﬂ@dqlﬂ@@ | 69 651615560 GoRE 29 AIE | oUR 621 AQEN deagl ge@ 94 aa
699 9412 234 999 YA FIRS QISR YNGR 2AUISY ARIKE FIgHY 9F 2 |

QI 99R € 626m TR SI6R FIR | 76 IR § 626R FYIY AY6R FIL | FIFR IR ARG
22gI6R 699 T4 69269 2ARIAS 621NN, GI9l 69R S4B VSRR 99¢1 AIRG!; SR AS6EY
JRYIESIRIA A 1 ARIREISS 9EI AHTFIFR QURY | 98| QUER ARG Q6L 6383, AICNRRS,
891, 9°92, ARG | 9 9L AV6R 268D 626 F18F AGTY 6LIRAC0 | 912 618 F6AFER
dIgeR 69 69 6Ig 941, R 66R FIAUIQ AVIFEH | TIAN °TNAG GI'Q 676G696R Sl Q6L
Qe | deiq 2lod @ 6asm a1l 2ay 6265148 2lQdele 69 SIGAIG 9dqIq 629 | ¢lim YR &Sl
a8 gee | 8RR 96° 69T6MIAT G0G 699IFe ddl-RgIgiw 2°ad AR 1 YHI6R 9Rs 13 €I
SgI29 a1 2°qd 621RaI6S; Q0B 2°ad 6969 661AR alday 78 1L |

24 9g° G919 918 AR 9T e 2RES | I8 TSR FA9Q AREET, 6J9R q&am Q&P
21919, ¢JdIR 68 99° Q2RI dIR 1T | FIF ALYFIL 626R gal 6121 98 F8Y AEAIg | 6%
6098 62641 99° QIARI SIF g2¢ 69, 18 6998 5l q69, 96 969, a8 AgalE Fda f6a |
4 9919 g5 9IR, REAGRS 96° 6516T 99 Fa® QSIS 9999 geLIae | ISl §8 A9RE |
g604a g1a6 22 AN Y198 QUCR ARIAG; 94 6867 SgIAACT | 67162 9 FqI9g
2IGFE FRICER 69Q F29AUR LS 99, GI'A 26 % 22 65161 g2 AR 69IR TgIg 2N |
Q2Id T F6UER YBGH AU | B 9941 9REE FEIR I ARULY AgF |

SubQuestion No : 3
Q3 QUERIR AFERLR AUYD Shde K6l 62IQTIEN?
Ans X 1. qRle 53l

X 2. uddgig
o 3. 3919 6 259
X 4.9381Q

Question ID : 630680448793
Option 1 ID : 6306801752334
Option 2 ID : 6306801752333
Option 3 ID : 6306801752332
Option 4 ID : 6306801752335
Status : Answered
Chosen Option : 3




Comprehension:

2541966 2419 ¢ 2J6m ATEIY G0 G | 64 58 TYIY K69 1T 6SIR F6T, 69 ALE8 Fag
95° RER AR A8G YRR F6R I8° IE 196 FIRIF6R F5I9 F6 | §FIF R ATFQ €1
2°ag SRR I8 I8 LIRS AV | 9 9T AAIR-T6AUT iR °AISER §F RIS 9 | 95
6 249 FAGR gAAGRINT 2AQUIRY 8 AFjag AA1g 998 | CPRER FIF 6997 SaLIFH 6TIR
QRN | 59R F99 AR YL 6TRACA Q1L | A 64 §FS16 16° YR GIAIR T 98°
2349 gﬂ@dqlﬂ@@ 1 69 691615560 GoRE 29 AIE | GoUR 621 AQEY JeRg as@ 94 ae
699 9412 2399 999 YA FIRS QISR YINAQ AU RIS FIgHY 9F 2 |

QI 99R € 626m TR SI6R FIR | 76 IR § 626R FYIY AY6R FIL | FIFR IR ARG
22gI6R 699 T4 69269 2GS 621NN, GI9l 69R S4B VSRR 99¢1 AIRG!; SR AS6EY
JRYIESIRIA 22 1 ARIREISS 9EI AATFIFR QY | 98| Q6D ARG Q6L 6383, AICNRRS,
891, 9°92, ARG | 9¢ 9L AV6R 268D 626 F18F AGRY 6LIRAC0 | 912 618 F6AFER
dIgeR 69 69 6Ig 9419, R 66R FIAUIQ AVIFEH | TIAN °TNAG GI'Q 6966696R Sl Q6L
Qe | deiq 2lod @ 6asm a1 2ay 6265148 2lQdele 69 SIGAIG 9dqIq 629 | ¢im UM &Sl
a8 gee | 8RR 96° 69T6MIAT G0G 699IFe ddl-RgIgiw 2°ad AR 1 YH6R 9RsI 13 QI
GgI29 a1 2°qd 621RaI6S; Q0B 2°ad 6969 661AR alday 78 1L |

24 9g° 919 918 AR 9T e 2RES | IS TSR FA9Q AREET, 6J9R q&am Q&P
21919, ¢JaIR 68 99° A9l dIR 91T | FIF QLYFIL 626R gal 6121 98 F8Y AEAIg | 6%
6998 62641 99° QIARI SIF g2¢ 69, 18 6998 5l q69, 96 969, a8 AgalE Fda a6a |
4 9919 g5 9IR, REAGRS ¥96° 6a16T 99 FaY QSIS 9999 g6LIae | ISl 69 A9RE |
g604a ga6 22 AING Y198 QUCR ARIAG; 94 6867 SgIAACT | 67162 9 FqI9g
2IGFE FRICER 69Q F29AUR LS 99, GI'A 2a % 22 65161 g2 AR 69IR TgIg 2N |
Q2Id T F6UER YBGH AU | B 9941 9REE FEIR I ARULY AgF |

SubQuestion No : 4
Q4 G998 2RI 684 FIFR IS ALRIC RAE ?
Ans 2 1. 9°QF GR7IFL A9
X 2. TGN F9Q
X 3.9°999
X 4. 2eEER A9

Question ID : 630680448794
Option 1 ID : 6306801752339
Option 2 ID : 6306801752336
Option 3 ID : 6306801752338
Option 4 ID : 6306801752337
Status : Answered
Chosen Option : 1




Comprehension:

2541966 2419 ¢ 26m ATEIL GO AL | 64 58 TYIY G698 GIE 6SIR F6T, 69 ALE8 Fag
95° RER AR A6G YRR F6R I8° IE 196 FIRIF6R 3519 F69 | §FIF R ATFIQ €1
2°ag SRR A8 I8 RIS AV | 9 9T AIR-T6AUT iR °AISER §F RIS 9 | 99
6 249 F9R gAAGRINT AYIRY 8 AFjag AA1g 998 | CPRER FIF 6997 SaLIFH 62IR
QRN | 59R F99 AR YL 6TRACA Q1L | A 64 §FS16 16° YR GIAIR T 98°
23499 Qﬂﬂdqlﬂ@@ | 69 69165560 GoRE 29 AIE | GoUR 621 AQEY Jeag gce@ 94 ae
699 9412 234 999 YA FIS QISR YNGR AU RIS FIgHY 9F 2 |

QI 4R € 626m TR SI6R FIR | 76 IR § 626R FYIY AY6R IR | FIFR IR ARG
29gI6R 699 T4 69269 2ARIAS 621NN, GI9l 69R S4B HLAR 9961 AIRS!; SR AS6EY
JRYIESIRIA 22 1 ARIREISS 9EI AHTFIFR QURY | 98| QUER ARG Q6L 6383, AICNRRS,
891, 9°92, ARG | 9 9L AV6R 268D 696 F18F AGTY 6LIRAC0 | 912 618 F6AFER
dIgeR 690 69 6Ig 941, R 66R FIAUIQ AWK | TIAN °TNYG 66 6766696R Sl Q6L
Qe | delq 2led @ casm a1 2ay 6265148 2lQdele 69 SIRAIG 9dqIg 629 | ¢im UM &Sl
a8 ge< | 8RR 96° 69T6MIAT G0G 699IFe ddl-RgIgiw 2ad AR 1 YHI6R 9Rs 13 QI
GgI29 a1 2°qd 621R0I6S; Q8B 2°ad 8969 661AR alday 78 1L |

24 9g° 919 918 AR 9T N 2RES | g8 TRISIR FA9R AREET, 6J9R q&am Q&P Gl
21919, ¢dAIR 68 99° Q9! dIR 9IS | FIF QLUYFIL 626R gal 6121 98 F8Y AEAIg | 6%
6098 62641 99° QIARI SIF g2¢ 969, 18 6998 TSl q69, 96 969, a8 2AgalE Fda a6a |
4 9918 g5 9IR, REAGRS ¥96° 65163 99 FaY QSIS 9999 g6LIae | ISl 68 A9RE |
g604a g1a6 22 AING Y198 QUCR ARIAG; 94 6867 SgIAACTN | 67162 9a FqI9g
2IFE FRICER 69Q F29AUR LS 99, GI'A FaY 22 65191 9246 AgR 69IR I 2N |
Q2Id T F6AUER YBGT UM | B 99G1 AREE FEIR I 2Ry AgF |

SubQuestion No : 5
Q5 QIgl Q69 2968d 6T6m F18Y Q({‘ﬁg 6LINWE0 ?
Ans X' 1 Q| QW6

o 2. 3¢ Qe
X 3. 9618 QU6
X 4. 9°98 969

Question ID : 630680448796
Option 1 ID : 6306801752345
Option 2 ID : 6306801752346
Option 3 ID : 6306801752344
Option 4 ID : 6306801752347
Status : Answered
Chosen Option : 2




Comprehension:

259I960 849 @ 26M AT4I ARgY GIE 1 64 AR I K69 FIE 6AIA 62, 69 UGES Fag
9Q° BRQ LA A9 KR F6R 98° IE IGE FIRIFER [ F69 | FYIY AR AR ¢
2°07 A7 A9Q 98 ATFIC RIS | 1 §RT IAIQ-F6aNRN AR ANS6R G5 @IS 99 | 9
3 249 F9R gAAGRINT 2AYIRY 8 AFjag AA1g 998 | CPRER FIF 6997 SaLIFH 6aIR
QRN | 59R F99 AR FPL 6TRACA FIL | A 64 §FS16 16° YR GIAIR T 98°
23912 AAadNIAgS | 69 65169563 TSRS 9 QIS | §ogR 6291 2244 2RI g6e, 1¢ a9
699 9412 234 999 YA FIRS QISR YNGR 2AUISY ARIKE FIgHY 9F 2 |

QI 99R € 626m TR SI6R FIR | 76 IR § 626R FYIY AY6R FIL | FIFR IR ARG
ALI6R 692 I 6926Q 2RITS 6NN, SIL! 69R AU KRR ST AIRIFS; IR AEHY
FRYESIRIN 22 ! ARINESE 92 AFFYIAR AURY | 991 QU6R ARG Q6L 65096], ARSI,
A3, 2°YE, KNS | 94 92 AU6R 2L6IQ 626M F1EY @GRY 6TIRR60 | IL €12 G6AF6R
dIgeR 690 69 0Ig 9419, R 66R FIAUQ AWK | TIAN °TNAG GI'6 6966696R Sl Q6L
gl | dcfa 2Iod @ 6a6m el 26y 6965183 21edSIe 62 SIGAIG 9dqIq 629 | ¢im UM &Sl
a8 gee | 8RR 96° 69T6MIAT G0G 699IFe ddl-RgIdiw 2°ad AR 1 YI6R 9Rs 13 QI
Gg129 7 2°gd 62IRAET; ana 2°ad Beeq 66lna aiday &8 Q19 |

66 99° G919 A6 dIR gaE N ACRER | 4B SR AFQ AIRCIR, 698 TAIR asF I
ARIR, *dAIR 99 99° QAR AR YD | FIF ALAYEIN 626m gal 6121 98 F8Y AEAIg | 6%
6998 62641 99° QIARI FIF F2¢ Q69 717 69T 58 769, 86 968, ell AN FdA A6R |
4 9619 950 IR, AEAGRS 9S° 64163 97 FEY UTIS IR J6ARES | QIS 69 AAFE |
g604a ga6 22 AING Y198 QAUCR ARIAG; 94 6897 SgIAACTN | 67162 9 FqI9g
P68 FRIER6R 692 IR YRS §Y, SR FaT 2 65191 I2E FQR 69IR TgI 219 |
Q2Id T F6UUER YBGH U | B 29G1 9REE FEIR I 2Ry AgF |

SubQuestion No : 6
Q.6 QULIYR T 6 A3 ANATUARD ?
Ans 2 1.69 951916 G 9098 ol AR

X 2. 69 996967 LIRS, O I
X 3.64 Qlegl 6l 9Ig
X 4. 64 Q9Ig ¢l AR

Question ID : 630680448795
Option 1 ID : 6306801752342
Option 2 ID : 6306801752340
Option 3 ID : 6306801752343
Option 4 ID : 6306801752341
Status : Answered
Chosen Option : 1

Comprehension:

“QF69 6069 R AR, 196Q AR 62IRR
QY 69I91e 5 6969, 98 Fen caIsrIes
919G Q6 6618 SIRl, 2RI Fin TERI

QIFPRI GIgE 99R, 6F ORI ARAR

20 9% 967 696¢ ISR & AITA €68

07 @R 8IF 67168 g8 FF6R gRuelss
LA 651 |IT B6R 696§ G413 6QITIGE 1

Q6B K861 IO 98 Q@ {2 |

SubQuestion No : 7
Q7 ‘@Q1e” 99 FaII6SRIS S19T /61?2
Ans 214919
X 2.9g4l
X 3.659Gq
X 4. Qe

Question ID : 630680448801
Option 1 ID : 6306801752362
Option 2 ID : 6306801752363
Option 3 ID : 6306801752360
Option 4 ID : 6306801752361
Status : Answered
Chosen Option : 1




Comprehension:

“QFi6R 6966 GR AMl, HR6E R cglaml
QY 6glohw 5@ 696, 98 Gein ealorles
499 Q69 6619 g, 2IR18 Gein SdmI

QPRI 9@ JER, G LA ARAR

20 Qa6 967 6467 ISR & MITR €166

06 @R 817 67164 g Sdem gausled
AR 67112 RIS 967 64168 FEI8 6LIGRIER I

QUERIB G831 DI0 9% RERQ G |
SubQuestion No : 8
Q.8 QUERD FRGI°FIER 2K ‘AN’ SRR 22 K612
Ans X' 1. Q4ll 942Q1 QI
X 2.8g7
X 3.699
o 4.8l

Question ID : 630680448799
Option 1 ID : 6306801752354
Option 2 ID : 6306801752355
Option 3 ID : 6306801752353
Option 4 ID : 6306801752352
Status : Answered
Chosen Option : 4

Comprehension:

“QE69 6068 B AR, 963 R 62IRR
Q% 64I61e @ 6268, 98 AR calsIes
496 Q6 6618 SIRl, 218 Fin FERI

QUFRI Cge 012R, A7 20Rl ASAR

20 9T Q6 696¢ TSR & AR 168

A6R 6R /1T 67166l g8 Ga6m gaualse
QIR 6612 VT G68 667 G468 6aTIIER I

QUEAUB KFG! K0 9 QA {2 |
SubQuestion No : 9
Q9 G69ID 68Q SN ‘AR §I9g §XI9?
Ans X' 1 QRslIR
X 2.9
o 3. 9698
X 4. desle

Question ID : 630680448800
Option 1 ID : 6306801752359
Option 2 ID : 6306801752356
Option 3 ID : 6306801752357
Option 4 ID : 6306801752358
Status : Answered
Chosen Option : 2




Comprehension:

“QFi6R 6966 aR AMl, H96E AR cglaml
QY 6glohw 5@ 6962, 98 Gein ealorles
€99 Q62 6614 IR, 2A1R18 Gein SamI

QPRI FIg@ JLR, 87 AR ASAR

20 Qa6 967 6467 ISR & MITR €166

96 @R 817 67164 g Sdem gausied
IR 67112 BIT 967 64168 FEI8 66 I

QJ6RUB 2561 AI0 2R QAR & |
SubQuestion No : 10

Q10 Q4 QIR FIF6R IY RI6S G‘Ié‘?

Ans

o 1.25g @8 959 62Ig

X 2. a9 6dle /IS 629

X 3. 696 g9 2Rl 3R 29l 6a1g
X 4. 68ISRIS KRAR 6£11Y

Question ID : 630680448798
Option 1 ID : 6306801752348
Option 2 ID : 6306801752351
Option 3 ID : 6306801752350
Option 4 ID : 6306801752349
Status : Answered
Chosen Option : 1
Section : Part 1 General Knowledge and Current Affairs
Q1 Gegie crig B4 “Zn 232 65Q 252 @69 F2s IRI0E RIRER BOIE CTIRYER?
Ans 1. Gl RISKS Qi
X 2. 9014 9F 6919
X 3. @R Yl JEgm
X 4. @RI CH'EE!
Question ID : 630680448807
Option 1 ID : 6306801752384
Option 2 ID : 6306801752387
Option 3 ID : 6306801752386
Option 4 ID : 6306801752385
Status : Answered
Chosen Option : 1
Q.2 Which target number is clean water and sanitation under the Sustainable Development Goals?
Ans X1 Sth
x 2. 5'&1
o 3. 6111
Question ID : 630680448813
Option 1 ID : 6306801752410
Option 2 ID : 6306801752408
Option 3 ID : 6306801752411
Option 4 ID : 6306801752409
Status : Not Answered

Chosen Option :




Q.3 What is the name of portal launched by India at COP — 26 sumunits that aim to serve as one stop site to provide all the

information related to adoption of e — vehicles?
Ans X 1. e — LiFE portal
X 2. g —Pace portal
X 3. e — Smart portal
« 4. e —Amrit portal

Question ID : 630680448805
Option 1 ID : 6306801752378
Option 2 ID : 6306801752379
Option 3 ID : 6306801752377
Option 4 ID : 6306801752376
Status : Answered
Chosen Option : 3
Q4 Which of the following statements is NOT correct?
Ans 1. Rajya Sabha can make amendment in Money Bills.
X 2.
No demand for grant shall be made expect on the recommendation of President.
X< 3.
Contingency fund of India is held by Finance secretary on behalf of President.
X 4.
There is no provision of Joint sitting for constitutional amendment bills.
Question ID : 630680448811
Option 1 ID : 6306801752403
Option 2 ID : 6306801752401
Option 3 ID : 6306801752402
Option 4 ID : 6306801752400
Status : Answered
Chosen Option : 1
Q.5 Inwhich BRICS summit, BRICS members have decided to expand membership by inviting countries like Argentina,
Egypt, etc.?
Ans .
X 1. 14t symmit
¢ 2. 15 Symmit
X 3. 12t Summit
X 4. 13t gummit
Question ID : 630680448804
Option 1 ID : 6306801752375
Option 2 ID : 6306801752373
Option 3 ID : 6306801752372
Option 4 ID : 6306801752374
Status : Not Answered

Chosen Option :




Q.6 During british rule in which of the following years for administrative reasons head quarter at Puri was shifted to

Cuttack?
Ans X 1. 1804
X2 1824
K3 1818
4 1816
Question ID :
Option 1 ID
Option 21D :
Option 3D :
Option 4 ID :
Status :
Chosen Option :

630680448808

: 6306801752388

6306801752391
6306801752390
6306801752389
Not Answered

Q7 Which of the following is related to “Golden Revolution™?

Ans X 1. Fish and Marine Production
+ 2. Horticulture
X 3. Milk Production
X 4. Wheat Production

Chosen Option

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :
12

630680448810
6306801752398
6306801752399
6306801752396
6306801752397
Answered

Q8 Africa is linked to Asia by the which of the following Isthnms?
Ans X 1. Malacca

X 2. Palk

X 3. Panama

4. Suez

Option 4 ID

Chosen Option

Question ID :
Option 11D :
Option 21D :
Option 3 ID :

630680448809

6306801752395
6306801752394
6306801752393

: 6306801752392
Status :
1

Answered




Q.9 Odisha has won World Habitat award 2023 for which among following program initiated by state government?
Ans

X 1. Biju Setu Yojana

X 2. Utkala Mission

X 3. Uttam Orisha Yojana
« 4. Jaga Mission

Question ID : 630680448806
Option 1 ID : 6306801752382
Option 2 ID : 6306801752381
Option 3 ID : 6306801752383
Option 4 ID : 6306801752380
Status : Answered
Chosen Option : 3
Q.10 In Amoeba Which of the following Organelle of cells that maintains osmoregulation?
Ans X 1. Plastid
+ 2. Contractile vacuole
X 3. Mitochondria
X 4. Nucleus
Question ID : 630680448812
Option 1 ID : 6306801752407
Option 2 ID : 6306801752405
Option 3 ID : 6306801752404
Option 4 ID : 6306801752406
Status : Answered
Chosen Option : 3
Section : Part 1 Reasoning Ability
Q.1 Five friends are sitting in a row. Abha is sitting immediately on the right of Vishal. Keshav is immediately on the left
hand side of Vishal. but to the right side of Chandni. If Abha is sitting immediately on the left side of Deepti. Who is
sitting in the middle of the row?
Ans 1. Vishal
X 2. Chandni
X 3. Keshav
X 4. Deepti
Question ID : 630680448814
Option 1 ID : 6306801752414
Option 2 ID : 6306801752412
Option 3 ID : 6306801752413
Option 4 ID : 6306801752415
Status : Answered
Chosen Option : 1




Q2 GRC 94 OF 9IGeR @8 2Ee?
1A, JB, KD, LG, 77
Ans g1 MK

X 2. KM

X3 NM

X4 MN

Question ID : 630680448816
Option 1 ID : 6306801752422
Option 2 ID : 6306801752421
Option 3 ID : 6306801752420
Option 4 ID : 6306801752423
Status : Answered
Chosen Option : 1

Q.3 Read the given statement(s) and conclusions carefully. Assuming that the information given in the statements is true,
even if it appears to be at variance with commonly known facts. decide which of the given conclusions logically
follow(s) from the statement(s).

Statement:
All lip are pink
No pink is chrysalis
Conclusion:
1. No chrysalis is a tulip

2. No tulip is a chrysalis.
Ans X 1. Neither 1 nor 2 follows
+ 2. Both | and 2 conclusion follow

X 3. Only conclusion 2 follows

X 4. Only conclusion | follows

Question ID : 630680448819
Option 1 ID : 6306801752435
Option 2 ID : 6306801752434
Option 3 ID : 6306801752433
Option 4 ID : 6306801752432
Status : Answered
Chosen Option : 1

Q4 W means ‘+', X means ' Y means **' and Z means *+', then

6YTW4X6Z2=2
Ans X 1. 63

V2 43

X 3. 33

X 4. 53

Question ID : 630680448822
Option 1 ID : 6306801752447
Option 2 ID : 6306801752445
Option 3 ID : 6306801752444
Option 4 ID : 6306801752446
Status : Answered
Chosen Option : 2




Q5  Which will replace the question mark on the basis of city and concern river?

Agra : Yamuna :; Ahmedabad : ?

Ans X 1. Ken
X 2. Narmada
X 3. Tapti
+ 4. Sabarmati
Question ID : 630680448820
Option 1 ID : 6306801752438
Option 2 ID : 6306801752436
Option 3 ID : 6306801752439
Option 4 ID : 6306801752437
Status : Answered
Chosen Option : 4
Q6 -~ _ - By [Ey =, s by
MG QLS DRE FIRIG CRWEER f 9% (X) dawe 28?
(X) (1) 2 (3 )
Ans &1 3
X2 4
X3 2
X4 1
Question ID : 630680448821
Option 1 ID : 6306801752442
Option 2 ID : 6306801752443
Option 3 ID : 6306801752441
Option 4 ID : 6306801752440
Status : Not Answered
Chosen Option : ==
Q.7 Ranjana ranks 4th from the top and 8th from the bottom in a group of runners. How many runners are there in the
group?
Ans X 1. 12
2 11
X3 10
X4 13
Question ID : 630680448815
Option 1 ID : 6306801752418
Option 2 ID : 6306801752417
Option 3 ID : 6306801752416
Option 4 ID : 6306801752419
Status : Answered
Chosen Option : 2




Ans X 1. Grandmother

Q.8 How is the daughter of Rumana's father's wife's only daughter related to Rumana?

X 2. Aunt
& 3. Mother
« 4. Daughter
Question ID : 630680448818
Option 1 ID : 6306801752430
Option 2 ID : 6306801752431
Option 3 ID : 6306801752429
Option 4 ID : 6306801752428
Status : Answered
Chosen Option : 3
Q9  What will come in the place of question mark to make it logically complete?
7142231415272
Ans X 1. 66
2. 64
X3 77
X4 54
Question ID : 630680448823
Option 1 ID : 6306801752450
Option 2 ID : 6306801752449
Option 3 ID : 6306801752451
Option 4 ID : 6306801752448
Status : Answered
Chosen Option : 2
Q.10 IfDEAR becomes DARE and NEAR becomes NARE. What FEAR will become in the same manner?
Ans X 1. REAF
X 2. REFA
X 3. FAER
« 4 FARE
Question ID : 630680448817
Option 1 ID : 6306801752425
Option 2 ID : 6306801752424
Option 3 ID : 6306801752426
Option 4 ID : 6306801752427
Status : Answered
Chosen Option : 4

Section : Part 1 Computer Literacy




Q1
Ans X 1. Offsite Connectivity Router
« 2. Optical Character Recognition
X 3. Online Customer Response

X 4. Overland Cargo Reporting

What does "OCR" stand for in the context of e-Governance for railway reservation?

Question ID : 630680448824
Option 1 ID : 6306801752455
Option 2 ID : 6306801752453
Option 3 ID : 6306801752452
Option 4 1D : 6306801752454
Status : Answered
Chosen Option : 3
Q.2 The invention of the microprocessor, a key component of modern computers, is credited to:
Ans X 1. Charles Babbage
X 2. Alan Turing
« 3. Ted Hoff and Federico Faggin
X 4. John von Neumann
Question ID : 630680448826
Option 1 1D : 6306801752460
Option 2 ID : 6306801752461
Option 3 ID : 6306801752463
Option 4 ID : 6306801752462
Status : Not Answered
Chosen Option : --
Q3 What is the primary purpose of a search engine like Google?
Ans X 1. To sell movie tickets
« 2. To help users find information on the internet
X 3. To provide directions for road trips
X 4. To order groceries online
Question ID : 630680448827
Option 1 1D : 6306801752467
Option 2 ID : 6306801752466
Option 3 ID : 6306801752465
Option 4 ID : 6306801752464
Status : Answered
Chosen Option : 2




Q4 What does "PPI" represent when discussing screen quality?

Ans X 1. Picture Processing Indicator
X 2. Peripheral Pixel Integration
X 3. Precise Print Interface

« 4. Pixels Per Inch

Question ID : 630680448328
Option 1 ID : 6306801752471
Option 2 ID : 6306801752468
Option 3 ID : 6306801752470
Option 4 ID : 6306801752469
Status : Answered
Chosen Option : 4
Q5 What is the primary function of CPU Cache memory?
Ans X 1. To display graphics on the monitor
2
To provide temporary, high-speed storage for frequently used data
X 3. To control the computer’s peripherals
X 4. Long-term data storage
Question ID : 630680448825
Option 1 ID : 6306801752459
Option 2 ID : 6306801752457
Option 3 ID : 6306801752458
Option 4 ID : 6306801752456
Status : Answered
Chosen Option : 2
Section : Part 1 Child Development Learning Cugficylum and Assessment
Q1 A strategy to relate lessons to students' real-life experiences is:
Ans 1. Using culturally relevant materials
X 2. Focusing solely on textbook content
X 3. Teaching abstract concepts only
X 4. Avoiding examples
Question ID : 630680448833
Option 1 ID : 6306801752490
Option 2 ID : 6306801752491
Option 3 ID : 6306801752489
Option 4 ID : 6306801752488
Status : Answered
Chosen Option : 1




Q.2 Which social development characteristic is prominent in early childhood?

Ans

X 1. Desiring solitude
« 2. Engaging in parallel play
X 3. Understanding societal norms

X 4. Forming deep peer relationships

Question ID : 630680448829
Option 11D : 6306801752475
Option 2 ID : 6306801752474
Option 3 ID : 6306801752472
Option 4 ID : 6306801752473
Status : Answered
Chosen Option : 2
Q3 ad anben Snda gefe g8l Sieea 2RIDE @T6a 2l Gun @a910 dalew 2187
Ans = < =
X 1. d@ien-eage (Learner-centered)
X 2. Qg Gae d@4l (Problem-based learning)
X 3. ZledG-e25e (Admin-centered)
¢ 4. EF@-6256 (Teacher-centered)
Question ID : 630680448842
Option 11D : 6306801752526
Option 2 ID : 6306801752525
Option 3 ID : 6306801752524
Option 4 ID : 6306801752527
Status : Answered
Chosen Option : 4
Q4 Early intervention for developmental delays is crucial because:
Ans X 1. It guarantees normal future development
X 2. It makes the child smarter than their peers
X 3. It ensures a child will outgrow the delay
« 4. It improves outcomes and can minimize the effects
Question ID : 630680448831
Option 1 ID : 6306801752483
Option 2 ID : 6306801752481
Option 3 ID : 6306801752482
Option 4 ID : 6306801752480
Status : Answered
Chosen Option : 4




Q.5 Which principle of curriculum construction emphasizes connecting various subjects for a meaningful learning

Ans

experience?

X 1. Child-centeredness
« 2. Integration
X 3. Significance

X 4. Balance

Question ID : 630680448838
Option 1 ID : 6306801752508
Option 2 ID : 6306801752511
Option 3 ID : 6306801752509
Option 4 ID : 6306801752510
Status : Answered
Chosen Option : 1
Q.6 Which aspect of curriculum development focuses on how content will be taught?
Ans X 1. Curriculum objectives
« 2. Curriculum strategies
X 3. Curriculum content
X 4. Curriculum evaluation
Question ID : 630680448839
Option 1 ID : 6306801752514
Option 2 ID : 6306801752512
Option 3 ID : 6306801752515
Option 4 ID : 6306801752513
Status : Answered
Chosen Option : 1
a7 is often mistakenly confusedwith negative reinforcement.
Ans 7 1. Punishment
X 2. Equivalent reinforcement
X 3. Extinction
X 4. In-disciplinary
Question ID : 630680448841
Option 1 ID : 6306801752522
Option 2 ID : 6306801752523
Option 3 ID : 6306801752521
Option 4 ID : 6306801752520
Status : Answered
Chosen Option : 4




Q.8 Why is it important for an educator to frame open-ended questions in the classroom?

Ans X 1. To limit student responses
« 2. To encourage critical thinking
X 3. To ensure a one-word answer
X 4. To speed up the teaching process
Question ID : 630680448840
Option 1 ID : 6306801752519
Option 2 ID : 6306801752517
Option 3 ID : 6306801752518
Option 4 ID : 6306801752516
Status : Answered
Chosen Option : 2
Q9 Which statement is true regarding inclusive education?
Ans X 1. It is only for students with physical disabilities.
X 2. It is only about academic achievements.
X 3. It benefits only students with disabilities.
« 4. It creates an environment where evervone feels valued.
Question ID : 630680448836
Option 1 ID : 6306801752500
Option 2 ID : 6306801752502
Option 3 ID : 6306801752503
Option 4 ID : 6306801752501
Status : Answered
Chosen Option : 4
Q.10 When children manipulate objects to understand their properties or outcomes, they are engaging in:
Ans X 1. Trial and error
+ 2. Experimentation
X 3. Observation
X 4. Imitation
Question ID : 630680448834
Option 1 ID : 6306801752494
Option 2 ID : 6306801752495
Option 3 ID : 6306801752492
Option 4 ID : 6306801752493
Status : Answered
Chosen Option : 2




Q.11 Which of the following promotes the repetition of a desired behavior by offering a reward?
Ans X' 1. Tasks

X 2. Fatigue

« 3. Reinforcement

X 4. Materials

Question ID : 630680448832
Option 1 ID : 6306801752486
Option 2 ID : 6306801752484
Option 3 ID : 6306801752485
Option 4 ID : 6306801752487
Status : Answered
Chosen Option : 3
Q.12 Which form of abuse involves a caregiver fabricating or causing an illness in a child for attention or other gains?
Ans X 1. Niaprazine under Nopron
« 2. Munchausen syndrome by proxy
X 3. Emotional abuse
X 4. Sexual abuse
Question ID : 630680448837
Option 1 ID : 6306801752507
Option 2 ID : 6306801752506
Option 3 ID : 6306801752504
Option 4 ID : 6306801752505
Status : Answered
Chosen Option : 4
@13 Which of the following is a key principle of inclusive education?
Ans X 1. Homogenization
+ 2. Differentiation
X 3. Segregation
X 4. Isolation
Question ID : 630680448835
Option 1 ID : 6306801752498
Option 2 ID : 6306801752496
Option 3 ID : 6306801752499
Option 4 ID : 6306801752497
Status : Answered
Chosen Option : 1




Q.14 Which approach can be time-consuming and may not cover a vast curriculum efficiently?

Ans

X 2. Constructivist approach
X 3. Direct instruction

« 4. Problem-based learning

X 1. Lecture-based learning

Question ID : 630680448843
Option 11D : 6306801752531
Option 2 ID : 6306801752530
Option 3 ID : 6306801752529
Option 4 ID : 6306801752528
Status : Answered
Chosen Option : 2
Q.15 For which age group is secure attachment to caregivers especially critical for emotional development?
Ans X' 1. 2-4 years
« 2. 0-2 years
X 3. 5-7 years
X 4. 10-12 years
Question ID : 630680448830
Option 1 ID : 6306801752478
Option 2 ID : 6306801752479
Option 3 ID : 6306801752477
Option 4 ID : 6306801752476
Status : Answered
Chosen Option : 4
Section : Part Il Subject Contents
Q1 odie 20 aoasl 0998 9ol 21060 2 960 666 SRID ARG R 12816 2%, 98 ¢ @i Fuven 0ge® g4 ?
Ans X' 1. Rs. 8400
X 2. Rs_ 8800
¢ 3 Rs_ 8900
X 4. Rs_ 9000
Question ID : 630680448850
Option 1 ID : 6306801752557
Option 2 ID : 6306801752556
Option 3 ID : 6306801752558
Option 4 ID : 6306801752559
Status : Not Answered

Chosen Option :




2 oRTeeq, L1+ 22+ L3+ L4+ /5 + £6Q 9618 6066 62F ?

6/?\4
KX
N/

Ans x 1. 540 @ﬁ'l

2. 360 Ggl
X 3. 270 Ggll
X 4180 @9
Question ID : 630680448852
Option 1 ID : 6306801752567
Option 2 ID : 6306801752565
Option 3 ID : 6306801752566
Option 4 ID : 6306801752564
Status : Answered
Chosen Option : 2
Q.3 s 12 2
90 (x+2) +(x—1)" =256A. A9 R 6566 ?
x a0
Ans il 1
o1 —(xt+)
128 s
5 1
X2 266(x*4+—
xz
1 1
X3 — (xz =2 —)
256 xZ
1 1
Ko =(x?+)
64 o
Question ID : 630680448848
Option 1 ID : 6306801752550
Option 2 ID : 6306801752549
Option 3 ID : 6306801752548
Option 4 ID : 6306801752551
Status : Not Answered
Chosen Option : --




Q.4

Ans

Which of the following will be the descending order of the given fractions?

I 6/23

I 8/17

TI. 2/5

Iv. 521

X1 LIV.ILII
X2 IV, LI, III
X3 OLIL IV, I
o4 ILUL LIV

Question ID

Option 11D :

Option 2 ID

Option 31D :
Option 4 ID :
Status :

Chosen Option :

: 630680448845
6306801752537
: 6306801752538
6306801752536
6306801752539
Not Answered

Q5 gag HGIEIR QG 19 IRI0 JR0 CUIGITE 68 216 | dPENIT 6R6G 2

Ans ¢ 1 2
X2 3
X35
vy
Question ID : 630680448844
Option 1 ID : 6306801752532
Option 2 ID : 6306801752535
Option 3 ID : 6306801752534
Option 4 ID : 6306801752533
Status : Answered
Chosen Option : 4
Q6 g Gaea e8GR 384 cm? ¥e® RIR FI995ER 2GAIS 121 16 : 20 266 | GRea alidl 6265 ?
Ans X 1. 76 cm
X2 108 cm
3. 96 cm
X4 84 cm
Question ID : 630680448854
Option 1 ID : 6306801752572
Option 2 ID : 6306801752574
Option 3 ID : 6306801752573
Option 4 ID : 6306801752575
Status : Not Answered

Chosen Option :




Q.7 Ram’s income is 50 percent of Karan’s income and Karan’s income is 50 percent of Vijay’s income. Ram’s income is

Ans

what percentage of 50 percent of combined income of Karan and Vijay?

X 1. 62.5 percent
« 2. 33.3 percent
X 3. 37.5 percent
X 4. 66.6 percent

Question ID : 630680448851
Option 1 ID : 6306801752562
Option 2 ID : 6306801752563
Option 3 ID : 6306801752561
Option 4 ID : 6306801752560
Status : Not Answered
Chosen Option : ==
Q.8 30 cm euad §8d 16 98 95 IR FIFY 9 P OIp 990 244 PA 6 PB aiwIa98 1 98 O 5298 989 675 98° PO =
50 cim, 6969 PB @ gmt 69657
Ans X 1. 8D cm
X2 50cm
X3 60 cm
« 4 40 cm
Question ID : 630680448853
Option 1 ID : 6306801752570
Option 2 ID : 6306801752571
Option 3 ID : 6306801752569
Option 4 ID : 6306801752568
Status : Answered
Chosen Option : 4
Q.9 250 figa x 100 feas 99 LG9 §561 0FF | 2501 919160 5 F6R aa o1gl 3414 SaILIRg | QIUR SIETE 6656
[analel
Ans 1 — 2
- 3700 den
X2 2700 G 2
X 3. 3500 Gen 2
X 4 3900 fen 2
Question ID : 630680448855
Option 1 ID : 6306801752576
Option 2 ID : 6306801752578
Option 3 ID : 6306801752579
Option 4 ID : 6306801752577
Status : Not Answered

Chosen Option :




Q10 4 x%  14x

—— 0l JmY 66T s
1+x%* 1-—x%
Ans ¢ 1. oy |
V2 x+1
X3 %241
X421
Question ID : 630680448847
Option 1 ID : 6306801752546
Option 2 ID : 6306801752544
Option 3 ID : 6306801752545
Option 4 ID : 6306801752547
Status : Answered
Chosen Option : 1
Q.11 = )
A8 p(x) = 2¢2 — Tx + 10, 6569 p(2)a §JRY 6066 ?
Ans 1 =
v2 4
X3 2
X4 2
Question ID : 630680448846
Option 1 ID : 6306801752543
Option 2 ID : 6306801752540
Option 3 ID : 6306801752541
Option 4 ID : 6306801752542
Status : Answered
Chosen Option : 2
Q.12 By selling 200 ball pens for Rs. 320 a retailer loses 20 percent. To make a profit of 20 percent, how many ball pens
should he sell for Rs. 1207
Ans X' 1. 72
2 50
X3 54
X 4 60
Question ID : 630680448849
Option 1 ID : 6306801752553
Option 2 ID : 6306801752554
Option 3 ID : 6306801752555
Option 4 ID : 6306801752552
Status : Not Answered

Chosen Option :




Q13 A solution with a pH of 9 is:

Chosen Option :

Ans X 1. Impossible to determine
+ 2. Basic
X 3. Neutral
X 4 Acidic
Question ID : 630680448860
Option 1 ID : 6306801752598
Option 2 ID : 6306801752599
Option 3 ID : 6306801752596
Option 4 ID : 6306801752597
Status : Answered
Chosen Option : 2
Q14 Which gas is the most abundant in the Earth's atmosphere?
Ans X 1.0Oxygen (O5)
/< 2. Carbon dioxide (CO,)
o 3. Nitrogen (N,)
75 4. Hydrogen (Hy)
Question ID : 630680448864
Option 1 ID : 6306801752612
Option 2 ID : 6306801752613
Option 3 ID : 6306801752614
Option 4 ID : 6306801752615
Status : Answered
Chosen Option : 3
Q15 What is the general characteristic of non-metals when they react with metals?
Ans X 1. They share electrons
« 2. They gain electrons
X 3. They do not react with metals
X 4. They lose electrons
Question ID : 630680448856
Option 1 ID : 6306801752582
Option 2 ID : 6306801752580
Option 3 ID : 6306801752583
Option 4 ID : 6306801752581
Status : Not Answered




Q16 The smallest unit of an element that retains its chemical properties is called:

Ans X 1. Molecule
« 2. Atom
X 3. Electron
X 4. Compound

Question ID : 630680448857
Option 1 ID : 6306801752585
Option 2 ID : 6306801752584
Option 3 ID : 6306801752587
Option 4 ID : 6306801752586
Status : Answered
Chosen Option : 2
Q17 Tn a chemical equation, what are the reactants?
Ans X 1. The catalysts used
X 2. The products formed
+ 3. The substances on the left side of the arrow
X 4. The substances on the right side of the arrow
Question ID : 630680448858
Option 1 ID : 6306801752591
Option 2 ID : 6306801752590
Option 3 ID : 6306801752588
Option 4 ID : 6306801752589
Status : Answered
Chosen Option : 3
Q18 What is the chemical formula for sulfuric acid?
Ans x 1. HES DS
o 2. HES D4
X 3. HQS
X 4. SDE
Question ID : 630680448859
Option 1 ID : 6306801752593
Option 2 ID : 6306801752594
Option 3 ID : 6306801752595
Option 4 ID : 6306801752592
Status : Answered
Chosen Option : 2




Q.19 Which of the following statements is true regarding the buoyant force on an object submerged in a fluid?

Ans X 1. Tt is always greater than the weight of the object

X 2. It depends on the weight of the object
« 3. It is equal to the weight of the fluid displaced by the object

& 4. Tt acts downward

Question ID : 630680448861
Option 1 ID : 6306801752603
Option 2 ID : 6306801752601
Option 3 ID : 6306801752602
Option 4 ID : 6306801752600
Status : Answered
Chosen Option : 3
Q20 1p 3 concave mirror, where is the focus of reflected light rays located?
Ans 1. In front of the mirror
X 2. On the mirror's surface
X 3. Behind the mirror
X 4. At the center of the mirror
Question ID : 630680448863
Option 1 ID : 6306801752608
Option 2 ID : 6306801752611
Option 3 ID : 6306801752609
Option 4 ID : 6306801752610
Status : Not Answered
Chosen Option : --
Q.21 What is the acceleration due to gravity on the surface of the Earth approximately?
Ans 1. 0.8 m/s?
X2 73m/s
X 3. 10 m/s?
K4 6.2 m/s?
Question ID : 630680448862
Option 1 ID : 6306801752605
Option 2 ID : 6306801752606
Option 3 ID : 6306801752604
Option 4 ID : 6306801752607
Status : Not Answered
Chosen Option : --




Q.22

Which of the following is a heterogeneous mixture?

Ans 1. Sand and water
X 2. Alr
X 3. Sugar solution
X 4. Saltwater
Question ID : 630680448866
Option 1 1D : 6306801752622
Option 2 ID : 6306801752620
Option 3 ID : 6306801752623
Option 4 ID : 6306801752621
Status : Answered
Chosen Option : 2
Q23 What is the chemical formula for hydrochloric acid?
Ans X 1.NaOH
o 2. HCI
% 3.H,0
X 4.HyS0,
Question ID : 630680448867
Option 1 ID : 6306801752627
Option 2 ID : 6306801752626
Option 3 ID : 6306801752624
Option 4 ID : 6306801752625
Status : Answered
Chosen Option : 2
Q24 WWhich element is the most abundant metal in the Earth's crust?
Ans X 1. Zine (Zn)
« 2. Aluminum (Al)
X 3. Copper (Cu)
X 4. Iron (Fe)
Question ID : 630680448865
Option 1 ID : 6306801752619
Option 2 ID : 6306801752617
Option 3 ID : 6306801752618
Option 4 ID : 6306801752616
Status : Answered
Chosen Option : 4




Q.25 Which soil type is known for its ability to retain water and nutrients but may become compacted and poorly aerated?

Ans X 1. silt
X 2. Sand
X 3. Peat
« 4. Clay
Question ID : 630680448872
Option 1 1D : 6306801752646
Option 2 ID : 6306801752645
Option 3 ID : 6306801752644
Option 4 ID : 6306801752647
Status : Answered
Chosen Option : 4
Q.26 What is the meaning of the acronym "ADHD" when considering issues related to adolescence?
Ans X 1. Adolescents' Dietary Habits Database
« 2. Attention Deficit Hyperactivity Disorder
X 3. Adolescent Development and Health Determinants
X 4. Adolescent Decision-Making and Health
Question ID : 630680448879
Option 11D : 6306801752674
Option 2 ID : 6306801752673
Option 3 ID : 6306801752672
Option 4 ID : 6306801752675
Status : Answered
Chosen Option : 2
Q.27 What is a significant aspect of sexual and reproductive health education for adolescents?
Ans X 1. Promoting abstinence-only programs
X 2. Encouraging early and frequent sexual activity
X 3. Avoiding any discussions about sexuality
« 4. Providing comprehensive and accurate information
Question ID : 630680448878
Option 1 ID : 6306801752669
Option 2 ID : 6306801752671
Option 3 ID : 6306801752668
Option 4 ID : 6306801752670
Status : Answered
Chosen Option : 4




Q.28

In respiration, what is the significance of the acronym "PEP"?

Ans X 1. Pulmonary Energy Production
X 2. Primary Exhalation Phase
« 3. Phospho enol pyruvate
X 4. Pulmonary Exchange Process
Question ID : 630680448870
Option 11D : 6306801752638
Option 2 ID : 6306801752639
Option 3 ID : 6306801752637
Option 4 ID : 6306801752636
Status : Answered
Chosen Option : 1
@29 What does the acronym "FADH," indicate in cellular respiration?
Ans

X 1. Fatty Acid Digestion and Handling
X 2. Fructose and Dihydrogen
X 3. Fast Anaerobic Decomposition

« 4. Flavin Adenine Dinucleotide

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680448871
6306801752643
6306801752642
6306801752641
6306801752640
Not Answered

Q.30 How does the Constructive approach differ from traditional teaching methods?

Ans X 1. It relies solely on lectures

& 2.

It involves students in actively constructing their understanding

& 3. Tt avoids interaction in the classroom

X 4. It encourages students to passively receive information

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680448868
6306801752628
6306801752630
6306801752631
6306801752629
Answered

2




Q.31 What is the name of the organelle responsible for storing water, ions, and other substances in plant cells?

Ans

« 1. Vacuole
X 2. Mitochondrion
X 3. Chloroplast

X 4 Nucleus

Question ID : 630680448875
Option 1 ID : 6306801752657
Option 2 ID : 6306801752656
Option 3 ID : 6306801752659
Option 4 ID : 6306801752658
Status : Answered
Chosen Option : 1
Q.32 Which microorganism is responsible for the production of antibiotics used in medicine?
Ans X 1. Algae
« 2. Fungi
X 3. Archaea
X 4. Protozoa
Question ID : 630680448877
Option 1 ID : 6306801752666
Option 2 ID : 6306801752665
Option 3 ID : 6306801752664
Option 4 ID : 6306801752667
Status : Answered
Chosen Option : 2
Q.33 What is the term for microorganisms that thrive in extreme environments, such as hot springs and deep-sea vents?
Ans X 1. Photosynthesizers
« 2. Extremophiles
X 3. Decomposers
X 4. Eukaryotes
Question ID : 630680448876
Option 1 ID : 6306801752661
Option 2 ID : 6306801752660
Option 3 ID : 6306801752662
Option 4 ID : 6306801752663
Status : Answered
Chosen Option : 3




Q.34 yWhat is the function of the cell's nucleus?

Ans X 1. Energy production

X 2. Photo synthesis
X 3. Lipid synthesis

« 4. Genetic information storage and regulation

Chosen Option :

Question ID : 630680448874
Option 1 ID : 6306801752653
Option 2 ID : 6306801752652
Option 3 ID : 6306801752655
Option 4 1D : 6306801752654
Status : Answered
Chosen Option : 4
Q.35 What is the term for the accumulation of partially decomposed organic matter in waterlogged soils?
Ans X 1. Loam
+ 2. Peat
X 3. Gravel
X 4. Bedrock
Question ID : 630680448873
Option 1 ID : 6306801752649
Option 2 ID : 6306801752650
Option 3 ID : 6306801752648
Option 4 ID : 6306801752651
Status : Answered
Chosen Option : 2
Q36 YWhat is the role of the teacher in the Constructive approach?
Ans & 1. To facilitate and guide students' learning experiences
X 2. To provide step-bv-step instructions for all tasks
X 3. To be the sole source of knowledge
X 4. To eliminate discussions in the classroom
Question ID : 630680448869
Option 1 1D : 6306801752634
Option 2 ID : 6306801752633
Option 3 ID : 6306801752632
Option 4 ID : 6306801752635
Status : Answered
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Q.1

Ans

As per the taxonomy of educational objectives. which of the following educational ebjective comes under the Cognitive
Domain by Bloom (1956)?

X 1. Precision
« 2. Analysis
X 3. Imitation
X 4. Manipulation

Question ID : 630680448881
Option 1 ID : 6306801752681
Option 2 ID : 6306801752680
Option 3 ID : 6306801752682
Option 4 ID : 6306801752683
Status : Answered
Chosen Option : 2
Q.2 Match the following in the context of common errors in mathematics class.
Example Error pattern description
493
+ 28
I | 411 |1 |Added the ones column correctly but did not carry over the one ten to the ten’s column
34
+ 56
Ir 18 2 | Added all the digits together
346
+ 39
111 3186 3 | Followed the correct procedures but added the ones column incorrectly
Ans X 1. I-2, II-1, I1I-3
X2 I-2,1I-3, ITI-1
3 I-1, II-2, ITI-3
X 4. I-1, II-3, ITI-2
Question ID : 630680448887
Option 1 ID : 6306801752706
Option 2 ID : 6306801752707
Option 3 ID : 6306801752705
Option 4 ID : 6306801752704
Status : Answered
Chosen Option : 3
Q.3 Inwhich of the following method of teaching mathematics, we proceed from what is given to proving what is required?
Ans X 1. Analytic method
X 2. Inductive method
« 3. Synthetic method
X 4. Deductive method
Question ID : 630680448883
Option 1 ID : 6306801752688
Option 2 ID : 6306801752689
Option 3 ID : 6306801752691
Option 4 ID : 6306801752690
Status : Answered
Chosen Option : 4




Q.4

In which stage of experiential learning cycle, the members of the group begin to focus on their awareness of situations
in their personal or work lives that are similar to those they experienced in the group?

Ans 1. Generalizing
X 2. Experiencing
X 3. Applying
X 4. Processing
Question ID : 630680448884
Option 1 1D : 6306801752692
Option 2 ID : 6306801752694
Option 3 ID : 6306801752695
Option 4 ID : 6306801752693
Status : Not Answered
Chosen Option : ==
Q.5 Arrange the following steps (from first to last) involved in inductive approach of teaching mathematics.
I. Presentation of specific instances
II. Observation
III. Generalisation
IV. Verification
Ans 1. TL IV LT
X2 LILIIL IV
X3 ILIL Iand IV
4 LILIL IV
Question ID : 630680448885
Option 1 ID : 6306801752698
Option 2 ID : 6306801752697
Option 3 ID : 6306801752699
Option 4 ID : 6306801752696
Status : Answered
Chosen Option : 4
Q.6  Which of the following is NOT a general objective of teaching mathematics at secondary level?
Ans X 1.
Acquire knowledge of facts, concepts. theories of mathematics
X 2. Develop the skills to use algorithms in problems solving
X 3. Appreciate the contribution of mathematicians
Y
Develop interest and negative attitude towards mathematics
Question ID : 630680448880
Option 1 ID : 6306801752676
Option 2 ID : 6306801752677
Option 3 ID : 6306801752679
Option 4 ID : 6306801752678
Status : Answered
Chosen Option : 4




Q.7

Precision is a nature of mathematics which deals with the

I. Accuracy
II. Exactness
III. Ambiguity
Ans X 1. I, II and III
X 2. Only II and IIT
X 3. Only I and ITT
« 4 Onlyland II
Question ID : 630680448882
Option 1 ID : 6306801752687
Option 2 ID : 6306801752685
Option 3 ID : 6306801752686
Option 4 ID : 6306801752684
Status : Answered
Chosen Option : 4
Q.8 Portfolio is a purposeful collection of student’s work that exhibit the student’s efforts, progress, or achievement in give
areas. This collection must include what?
I Evidence of student self-reflection
1I. Criteria of judging merit
Ans X 1. Only II
+ 2. BothIand II
X 3. Neither I nor IT
X4 OnlyI
Question ID : 630680448886
Option 1 ID : 6306801752701
Option 2 ID : 6306801752702
Option 3 ID : 6306801752703
Option 4 ID : 6306801752700
Status : Answered
Chosen Option : 3
Q9 Diagnostic assessment is mainly used for;
Ans 1. Identifying students’ strengths and weaknesses.
X 2. Grading.
X 3. Comparing students.
X 4. Certifying student completion
Question ID : 630680448895
Option 1 ID : 6306801752739
Option 2 ID : 6306801752736
Option 3 ID : 6306801752738
Option 4 ID : 6306801752737
Status : Answered

Chosen Option :

1




Q10 The primary purpose of summative assessment in science is:

Ans 1. To determine grades.

X 2. To guide the next unit of instruction.
X 3. To identify students' misconceptions

X 4. To modify ongoing instruction.

Question ID : 630680448891
Option 1 ID : 6306801752721
Option 2 ID : 6306801752722
Option 3 ID : 6306801752723
Option 4 ID : 6306801752720
Status : Answered
Chosen Option : 1
Q.11 The method that focuses on identifying and solving real-life problems in a systematic manner is:
Ans X 1. Project method.
X 2. Observation method.
« 3. Problem-solving method.
X 4. Discovery method.
Question ID : 630680448893
Option 11D : 6306801752729
Option 2 ID : 6306801752728
Option 3 ID : 6306801752730
Option 4 ID : 6306801752731
Status : Answered
Chosen Option : 3
Q12 1p the integrated approach of teaching science:
Ans X 1. Subjects are taught in isolation.
X 2. Focus is only on core concepts without interrelation.
X 3. Subjects are taught in a compartmentalized manner.
« 4. Subjects are interconnected and themes overlap.
Question ID : 630680448894
Option 1 ID : 6306801752732
Option 2 ID : 6306801752735
Option 3 ID : 6306801752734
Option 4 ID : 6306801752733
Status : Answered
Chosen Option : 3




Q.13

Ans

What is the primary advantage of the project method?
X 1. It encourages rote learning.

X 2. It avoids practical work.

X 3. It limits students' creativity.

« 4. It facilitates holistic learning.

Question ID : 630680448389
Option 1 ID : 6306801752712
Option 2 ID : 6306801752713
Option 3 ID : 6306801752715
Option 4 ID : 6306801752714
Status : Answered
Chosen Option : 4
Q14 Tn the constructivist approach, the role of a teacher is primarily:
Ans X 1. Dictator.
X 2. Instructor.
« 3. Facilitator.
X 4. Passive observer.
Question ID : 630680448890
Option 1 ID : 6306801752716
Option 2 ID : 6306801752719
Option 3 ID : 6306801752718
Option 4 ID : 6306801752717
Status : Answered
Chosen Option : 3
Q15 Ap essential objective of teaching science at the upper primary level is:
Ans X 1. Producing scientists.
2.
Developing the ability to apply scientific principles in daily life.
X 3. Memorizing the periodic table.
X 4. Learning laboratory rules.
Question ID : 630680448888
Option 1 ID : 6306801752708
Option 2 ID : 6306801752709
Option 3 ID : 6306801752711
Option 4 ID : 6306801752710
Status : Answered

Chosen Option : 2




Q.16 One of the main aims of teaching science at the upper primary stage is to develop:

Ans

X 1. Mastery over scientific jargon.

X 2. The skill to argue against scientific theories.
« 3. A scientific temper.

X 4. The ability to pass exams

Question ID : 630680448892
Option 1 ID : 6306801752727
Option 2 ID : 6306801752725
Option 3 ID : 6306801752724
Option 4 ID : 6306801752726
Status : Answered
Chosen Option : 3
Q.17 Which technique assesses students' comprehension of seientific concepts through spoken communication?
Ans X 1. Worksheets
X 2. Homework assignments
« 3. Group discussions
X 4. Lab practicals
Question ID : 630680448902
Option 1 ID : 6306801752767
Option 2 ID : 6306801752765
Option 3 ID : 6306801752766
Option 4 1D : 6306801752764
Status : Answered
Chosen Option : 3
Q18 Which of the following is an example of quantitative observation?
Ans X 1. "The liquid turned green.”
X 2. "The substance felt hot."
X 3. "I heard a barking sound."
o 4.
"The temperature of the solution increased by 10 degrees Celsius."
Question ID : 630680448899
Option 1 ID : 6306801752752
Option 2 ID : 6306801752753
Option 3 ID : 6306801752754
Option 4 ID : 6306801752755
Status : Answered
Chosen Option : 4




Q19 WWhat is the primary purpose of incorporating "SOLQ" in science education?

Ans X 1. To encourage surface-level learning

X 2. To discourage independent thinking

3.
To assess and improve the quality of students' understanding

X 4. To avoid assessment

Question ID : 630680448898
Option 1 ID : 6306801752750
Option 2 ID : 6306801752751
Option 3 ID : 6306801752749
Option 4 ID : 6306801752748
Status : Answered
Chosen Option : 3
Q.20 What tool allows for direct abservation and assessment of students' practical skills during laboratory activities?
Ans 1. Laboratory notebooks
X 2. Lab reports
X 3. Examinations
X 4. Computer simulations
Question ID : 630680448903
Option 1 ID : 6306801752769
Option 2 ID : 6306801752770
Option 3 ID : 6306801752768
Option 4 ID : 6306801752771
Status : Answered
Chosen Option : 2
Q.21 How do animals with hibernation as an adaptation conserve energy during the winter months?
Ans 1. By entering a deep, low-activity state
X 2. By growing thicker fur
X 3. By seeking shelter in caves
X 4. By remaining active and foraging for food
Question ID : 630680448901
Option 1 ID : 6306801752763
Option 2 ID : 6306801752760
Option 3 ID : 6306801752762
Option 4 ID : 6306801752761
Status : Answered

Chosen Option :

1




Q.22 What term describes the process of an organism gradually becoming better suited to its environment over time?

Ans

X 1. Disintegration
& 2. Transformation

& 3. Mutation
« 4. Evolution

Question ID : 630680448900
Option 1 ID : 6306801752756
Option 2 ID : 6306801752759
Option 3 ID : 6306801752757
Option 4 ID : 6306801752758
Status : Answered
Chosen Option : 4
Q.23 Why is it important to teach the scientific method and critical thinking skills?
Ans X 1. To discourage hands-on experiments
X 2. To make science uninteresting
X 3. To limit students' intellectual growth
« 4. To develop problem-solving skills and rational thinking
Question ID : 630680448897
Option 1 ID : 6306801752747
Option 2 ID : 6306801752746
Option 3 ID : 6306801752744
Option 4 ID : 6306801752745
Status : Answered
Chosen Option : 4
Q24 Tn the "Nature of Science." what does "inquiry" mean?
Ans X 1. Passive listening to lectures
X 2. Avoiding experiments
X 3. Memorization of facts
« 4. Active questioning, investigation, and exploration
Question ID : 630680448896
Option 1 ID : 6306801752740
Option 2 ID : 6306801752743
Option 3 ID : 6306801752741
Option 4 ID : 6306801752742
Status : Answered
Chosen Option : 4




